Ajmal National Talent Search Examination, 2009
Class : X
Time/?<¥ : 2 hours (T5Y) Full Marks/ & 7992 (25+25+25+25)=100

INSTRUCTIONS / fca=ii=et ¢

1. Attempt All Questions. / 2TSFCH! 2 TEI T4 |
2. There are four options to every question. Choose the correct option by putting any one of a, b, ¢ or d,

in the box / &ifSts! &M= o6 g Tes il =it | wa Tearh! 1R T Fige 2Ft qiF6e a, b, ¢ A d TRkar)

General Knowledge / AAi4i9¢ T«

1. “Oology” is the study of — / ‘Oology’ (Be1'S) 5z Sirzea w191 Tifee 2
a) Ocean/s2P5" b) Birdsegg /™34 c¢)  Fishing / =&l d) Photography / THiale! |:|

2. Who was the ATS Chief of Maharastra; who died in a terrorist attack at Mumbai? / 53 7@PRI7 S SIEers Fge @1
2983 ATS (Anti terrorist squad) 3 391 (i N1t 2
a) Hemant Karkare / (2833 b)  Ashok Kamte / SIC*F IS5 I:l
¢) Vijay Salaskar / R gergs d) R.K. Das/IF &uA

3. Which of the following states is recently included in the Aviation Map of India? / ©&1 (&l 2« a7 72/ e (19
NI SRYE (2= ?

a) Nagaland /7esTe b)  Mizoram /Bt&RE  ¢)  Manipur /sfasg  d)  Sikkim /& []

4. The first Prime Minister of India missed the Republic Day parade during his tenure— / ©Feq (F ALTTG I FGFE
SETCS AL IS A A= T (oTee ToifFo 279 #/9] 1fes 2

a) Morarji Desai / (NRISS (7113 b)  V.P Singh/feftfr |:|
¢) Atal Behari Vajpayee / 5551 RS qrersiif d)  Manmohan Singh / Stz

5. ‘The 3 mistakes of my time’ is authored by— / (319 7 o5 €1 2% <4 (Fite forfafeet 2

a) Chetan Bhagat / (5o ©5[® b)  Khuswant Singh / $*R@Fr I:l
¢) PadmaLaxmi /=i d)  Ashwin Sanghi / SR BT

6.  Tata Footbal Academy is located at— / BiGI 631 G F'© ?
a) Bokaro/ @Al b)  Jamshedpur / Eiscd |:|
¢) Durgapur /75l d)  Rourkela / %=l

7. Who among the following persons bought in auction the items of Mahatma Gandhi in USA? / ©lRes (e e 2l
NI LS AN SR 7491 FeTrre w2 sz ?
a) Ratan Tata / 3 Giol b)  Mukesh Ambani / i =g |:|
¢) Vijay Mallya / R sifert d)  AdityaBirla / =iifie; st

8.  Postal voting is otherwise called: / (?II(% (©I53 o= »IfTe@=| &5 2

a) External voting / @Gt coiftix b)  Secret voting / callsid ¢eifbe |:|
¢) Plural voting / 2= ceIftR d)  Proxy voting / <l eI
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

Elementary education covers children in the age group of / 2i2ifsis R =i T 1 91- (RIS AGH #7132

a) 6to 10 years/ 69 [ 10 q%a b)  5to 12 years/ 59 %l 12 =S []
c) 6tol4years/ 6394 1433 d) 4tol12years/435_123=1

In astrology, which sign of the Zodiac is symbolised by two fishes? / I b&re 25! WG Sed BRI (e [ 751 2

a) Aquarius/ @ b)  Gemini /30! ¢) Libra /o d) Pisces /S |:|
Nelson Mandela was a by profession before he become the leader of African National Congress. / fzreie
(TR TR (0] (RN SN9ICS (eT=e WS [ (21T 7191 Give SNifeT 2

a) Printer / &%= b) Lawyer/Sigsa@& ¢)  Doctor / ©e d) Teacher / s I:l
Which is called, “God’s own land”? / (i S “@aiRiea e (v et (P12 2

a) Kerala/ &1 b)  Kashmir / 3= |:|
¢) Arunachal Pradesh / S<iibeT i d)  Goa/ ¢t

Muslims pray five times in the direction of — / TN (FI=itat s{i5a10F Al 57 2

a) Kabain Mecca / &< I'4itet b)  Nearby Mosque / €539 Sgfem(s1 |:|
¢) The west / =f5%Ca d)  Medina / STw=itst

IST is ahead of GMT by— / It S+ 7S 157 SRS 13 SAl+7 F3( I {51 2

a) 3.5 hrs. (I b)  5.5hrs. (I%) c)  7.5hrs. (%) d) None ofthese / «bs WD
The fear of hearing a mobile ring is called— / (N *=s (21 S 5 JfeT (P12 2

a) Acrophobia / GCEFRAl b)  Nomophobia / TCIRA! |:|
¢) Cibophobia / ol d)  Xenophobia / (SR

The first batsman to make 10,000 runs in test cricket was: / (5% {&(5® (FIt 22s wZZ&IS el 21z Ffafe 2

a) Brian Lara /7= &1 b)  Allan Border / <&l a6R |:|
d)  Sunil Gavaskar / 11 SlrSIHE d)  Ricky Ponting / &1 %%

Which Grand Slam title won by Leander Paes and Carla Black?/ StaeiR (s1e7 S1i% 611 I (i 2llessis IO Sreie
et e

a) Australian Open / SEET Sl b)  French Open / % S'(7d I:l
¢) Wimbledon Tournament / SFeTGH d)  U.S. Open / SR <24

Prakash Amte, son of Baba Amte and his wife Mandkini Amte received the 2008 Ramon Magsaysay Award for— /
AP SIS B (€ A g1 W1 02 2008 Ho7S 527 A0 ({3 (900 FTFI 7B fee1 2

a) Emergent Leadership / <& (T9q b)  Community Leadership / &= (79q I:l
¢) Government Service / 53! Tl d)  Public Service / IE==t Rt

‘PIN’ in Credit Card stands for— / (&f®5 1¢a PIN 93 f& 55131 2

a) Personal Index Number / “AI5(1e1 2083 1% |:|

b) Personal Identification Number / AI5¢7a1 SIi3cefBo wrga
¢) Postal Index Number / (7T 308 91 d)  None ofthese / «blsw=T
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20. Recently which India based documentary film bagged the Oscar award? / Sif® 5 (Sl swo R fofes ©2) fhag =r=e
o1 oS TR ?

a)  Smile Pinki / “iz# o b)  The burning rain / w3lf T2 |:|
¢) Home made/ @¥ GM® d)  Therevolving power / % ResTiex 21’319

21.  Find the odd one out / SIfsH! Aifz Sfetreat
a) Kuchipudi/Fb=®! b) Kathak / 2= ¢)  Manipuri/f5§t  d) Disco /TSt |:|

22. Thejoint session of the two Houses is Presided over by the / 3z5wa gfoa Sifd@=iae (it Toisifog T 2

a) The Speaker / (IO S5 b)  The President / 9igifs I:l
¢) Chairman of Rajya Sabha / I&mTeR GIRGW  d)  Cheif Justice of India / ©=ed g4 i

23.  ‘Last Judgment’ was the 1st Painting of an Italian painter. Who was he? / S8 @S5 w151 fo@aisl €& 256111 hasaa
22w o wiifesT, (9€ (i ?
a) Leonardo da Vinci / fecisicefwi fofe b)  Michelangelo / i3 «gal I:l
¢) M. F. Hussain / 9% 9% 223+ d) J.M. Platini / ¢& @ {571

24.  Unani medicine was introduced in India by / Se® 281 (BEA #aro!) @74 IR (It SI<E S 2

a) The Arabs / SIS b)  The Greeks / S/ |:|
¢) The Turks / SR d)  None of these / 33(F «5I8 727

25.  What is the minimum age to compete in the Indian Administrative Services Examination? / SR R g Rl #I<S e
SIS (I s R I 2

a) 18 b) 21 ) 25 d) None of these /<BI8 7= I:l

General English / A«<¢ 23S

Only one option out of the four given, i,e [(a),(b),(c) and (d) ] applies correctly to the blank space. Put the correct
option in the box on the right hand side

26. Workhard .......................... you should fail

a) otherwise b) lest c) else d) or
27  The Marathas always fought .......................... the last man

a) upto b) il c) to d) for
28. Thetwinswere .............................. alike.

a) very b) quite c)  much d) most

29. Noneofusknewtheway, ........................... :

1 O O O O

a) Did any? b)  did we? ¢) didn’twe? d) didn’tany?
30. Boththe girls are suffering, one ............................. feverandtheother......................... her follies..
a) with, for b)  with, from c) of for d) from, for
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31

Everyoneshould .......................... indiscipline in children

[]

a) deprecate b)  depreciate c)  depress d) disapprove

Write the correct option in the adjacent box.

32.

33.

34.

35.

36.

Dissection of a corpse to determine the cause of death is termed:

a) chemo b)  biopsy c)  autopsy d) practical.

A doctor who has very old patientsisa.......................... :

a) paediatrician b)  geriatrician c)  optician d)  orthodontist.

The French phrase carte blanche means ........................... :

1 O O O

a) ablank cart b) freehand c¢)  whitecloth d)  withreference to.
Aneaglelivesinan .........................
a) byre b) eyrie c) coop d) dovecot

The word mis-spelt in the following optionsis ............................

a) ecstasy b)  maintainance c)  enmity d)  Mississippi |:|

In the following questions a part of the sentence is printed in italics. Below each sentence, some phrases are given
which can substitute the italicized part of the sentence. Find out the correct phrase. If you think that the sentence is
correct as it is , choose “No improvement’.

37.

38.

Can you tell why did you not speak the truth ?

a) Why you did not speak b)  Why did not you speak |:|
¢) That why did you not speak d)  Noimprovement

He complained that he had too much work #o cope up with.

a) Tocope b)  Tocope with c¢)  Forcopingupwith d) Noimprovement. |:|

In the following questions the beginning of the sentence is given and the remaining part of the sentence is broken in to
four parts represented by P,Q,R and S. Choose the correct option in which the sentence is reconstructed by properly
arranging the parts in sequential order so as to form a meaningful sentence.

39.

By this time

P- At the railway station

Q- Reported mass looting

R- Reports of violence were flooding in
S- While police dispatches

a) SPRQ b) SQRP ¢) RSPQ d) RSQP []
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40.

During hibernation

P- They have lost a good deal of weight
Q- Of course the animals consume

R- And when they wake again

S- The fats accumulated in the summer.

a) PRSQ b) QPRS ¢) PQRS d) QSRP []

In the following questions some sentences are given which are on the same theme. Decide which sentence is the most
preferable with respect to grammar, meaning and usage, suitable for formal writing in English.

41.

42.

a) Infortunately twenty one bomb-blasts , only five lives were lost. |:|
b) Fortunately, in twenty one bomb-blasts, only five lives were lost.

¢) Intwenty one bomb-blasts, fortunately only five lives were lost.

d) Intwenty one bomb-blasts only five lives were fortunately lost.

a) Assoon as the holidays begin this beach will become very crowded. |:|
b) No sooner did the holidays begin than this beach will become very crowded.

c) Assoon as holidays begin than this beach will become very crowded.

d) Scarcely had the holidays begin when this beach becomes very crowded.

In the following questions you are required to find the most suitable word given in the options to replace both the
words in bold italics in the two sentences. Choose the option which can be used in place of the italicized words in both
sentences.

43.

44.

I. Swarup’sintelligent mind often got him out of tight spots.
II. The task they did was so different that the difference was apparent.

a) Intelligible b) clear c)  sharp d) transparent I:l

I. The message was written on a piece of paper.
II. Gautam got in to a fight with his classmate.

a) Scrap b)  brush c) grab d) wad |:|

In the following sentences you are required to find antonyms for the italicized word in the sentence. Choose the option
which best expresses the opposite meaning.

45.

46.

He was in a sulky disposition.
a) loving b)  kind ¢ mid d)  cheerful. []

Their meeting was rather boisterous.
a) noisy b)  hostile c)  quiet d) happy. I:l

B



In the following sentences two sentences are correct. Mark the option that includes the two correct sentences.
However, if you think that all the sentences are correct choose option (d).

47. 1)  Theaverage number of hours spent watching TV has increased.
i)  The average of hours spent watching TV has increased.
i) The average hours spent watching TV have increased.

a) iandii b) iiandiil ¢ iandii d) allare correct. []
48. 1)  They had already ten children and didn’t want any more.

i)  They already had ten children and didn’t want any more.
i) They had ten children already and didn’t want any more.

a) landii b) iiandii ¢) iandii d) allare correct. []
Choose the option that gives the correct sense of the idioms / phrases in the following sentences

49. The staff have been on edge ever since they heard the rumour about retrenchment.
a) Disheartened b)  scared C)  nervous d)  unhappy |:|

50. The popularity of Nokia phones is on the wane.
a) growingless b) atrock bottom C)  growing more d) atitspeak I:l

General Mathematic / J«<el sifee

1 1 1

1 J—
51. If 2x3 +2x 3 =5 thenx equals— (I 2x3 +2x 3 =5 T, (OCT x IATZS)
1 1 1
a) lor(@=a-1  b) 2or(wE) ©) 438 or (1% 5 d) 3or(w) 3 []
52.  The number of pairs of sides of a trapezium which intersect is— (CGIfETRINT #2I(F 273 (2 F91 ALIITE FR27-)
a) 6 b) 5 0 3 d 1 []

53.  Oisthe centre of a circle as shown is the figure, If tangent PQ=12 cm and BQ = 8 cm, then chord AB is— (fo@® (w<
Jed FZe O |3 1 ~F PQ=12 (zefilz =< BQ = 8 (=:fils 70 (9% AB T isi-)

a) 10 cm(czfe) b) cm ((zfe) ©)  4cm(czie) d) 18 cm(czfile) |:|
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54.

55.

56.

57.

58.

59.

60.

61.

The value of K for which the system of equations Kx+2y =5, 3x+y =1, has no solution is— (K & << i
Kx+2y=5, 3x+y=1 32 AR g0IF (IC STl 121 2)

a) 5 b) % ) 6 d) []

( E_\/EJ+\/_—02
V144 V16 T
1 9 16
a) 1 b) 75 C) 25 d) None ofthese(é]i‘f\'m"a‘zr)lj

Ifthe height of a triangle is decreased by 40% and its base is increased by 40%, what will be the effect on its area? (3
5! fagea Tafe 40% I = gl 40% D, (OTF 23 FfeT-)

a) No change (It #ife<ée 727) b)  16% increase (16%3if5<) |:|
c) 8% decrease (8% Jf3) d)  16% decrease (16% fR)

In a company of 60 employees, 20% of the employees take coffee, 30% take tea and 15% both cofee and tea. The
number of employees who do not take either coffee or tea is— (B! (FI™{I 60 Tl FHHI SR ©IE 20% @ i,
30% BIZ eI 15% BIR II: 5{zF TCIG] 2 | 5IR A2 5P (TICal SIS 7 2°9-)

a) 5 b) 25 o 15 d) 39 []

A running track is the ring formed by two concentric circles. It is 10m wide. The circumferences of the two circles differ

by about. (5! o7 15! A<yFariz g€ Adl sifde | 4 orpehia 72 10 61 23 corg e oI #Affaq gl '3 2iw-)
a) 10 m(fS5R) b) 30 m(fER) ¢) 60m (o) d) None of these (45l H"Q‘?II)D

If a = sine (%j, b= cos(%j and C = —cosec (%j ,thenthe value of @’ + b” + ¢’ is—
@Ta= sine(%j; b= cos(%j o< C = —cosec(%j T, OF a’ + b+ INTTI)

ﬂ b 1 ¢ 0 d) ﬂ |:|

a
) 2 2

A man died in the year x> of the twentieth century at the age of x years. He was born in? (g STz &% *foiiq x> 3
5S X TZS IS I (I | W2 Sreid &l (2fesi-)
a) 1936 b) 1900 ©) 1892 d) 1960 []

In a group of cows and chickens, the number of legs was 14 more than twice the number of heads. Then number of

COWS— (@ 7IET 1% S FFA [P (F6F F2 I AR 72160 T 14 (@R 23, (0% 964 A4 T3-)
a) 5 b) 3 o 7 d) None of these (<Bie )| |
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62.

63.

64.

65.

66.

67.

68.

x> —bx m-1
If the roots of the equation = . are numberically equal but opposite in sign. Then the value of m is—
ax—c m

x*=bx m-1

(@ =~ e S <R it T g i R 2 cors m < 9 )
a-b
? a+b ©) d) d) None of these (u‘]ﬁ‘mm)lj

If(a+b):(b+c):(c+a):6:7:8 and a + b + ¢ =14, then the value of cis— (I (a+b):(b+c):(c+a):6:7:8
Fathb+c=14 TSI ¢ INTZ3-)

a) 6 b) 7 © 8 d 21 []

If (107 +25) — (10" - 25 =10" then the value of n— (& (10 + 25) - (10" - 25 =10" €T 7 TTTLT)
a) 12 b) 14 o 10 dy 24 []

Ifthe digit 1 is placed after a two digit number whose tens digit is # and units digit is %, the new number is: (751 ®I5F &2
TR GBIR R T SICO! 14 NS T2 9 SRFCO! £ 2 CF TRANGE AR 1 G5! S99 el ALLNE T3-)

a) 10/+u+1 b) 1007+ 10u + 1 ¢ 1000+ 10u+1 d) r+u+1 []

In the figure, it is given that angle C =90°, AD = DB, DE | AB, AB =20 and 4( =12. The area of quadrilateral
ADEC is: (bae =i, @i C=90°, AD = DB,DE 1 AB, AB =20 =i% AC =12 ot8 ADEC vossthR 3 g3)

a) 75 b) o 48 d) 37% L]

The angle of elevation of a cloud from a point 60m above a lake is 30° and the angle of depression of'its image in lake
is 60°. The height of the cloud is— (45 273 60 N5 Go[T® BIRET Taw (et 30° BN T 7B (2R TR AfSRw oiew (el
60° T’C51 TIRAGIF Tobel 23-)

) 100m (RoMR) b)  80m (F5R) o 40m (FHR) d)  120m(FHR) []

For what value of k, the system of equations x + 2y = 3, 5x + ky + 7 =0 has a unique solution? (k 3 {3 Si¥< A
X+ 2y =3, 5x + ky + 7 =0 2 Al YOIF G5 Tl A 2)

a) k- 10 []
b) Allreal values except 10 (103317 AFC= @K o)
¢) All natural numbers except 10 (10 I3t AT RIS 7122071

¢) does not exit (FITI I D)
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69.

70.

71.

72.

73.

74.

75.

76.

Ifa = b = ¢, then the roots of the equation (x —a)(x —b)+(x—b)(x —c)+(x—c)(x—a)=0 are A™ a=b =c =3,
o8 (x—a)(x—b)+(x—b)(x —c)+(x —c)(x—a) = 0 AR 1 23)

a) real and unequal (I N SHI) b)  imaginary (&) |:|
c) real and equal (I < HAT) d)  none of these («bIs w23)

A and B are the centres of two circles of redii 5 cm and 3 cm. PQ is perpendicular bisector of AB. Then PQ is equal to—
(A9IF B € o AmE e 5 (=efiie oI 3 (=efite 1 7 AB 3 emsfades PO =9, (5% PO I 9-)

a) 4ecm(zRe)  b)  3Jeem(@fe) o) 8cm(czf) d)  2cm (=) []

2 2 2
If @) g3 +b3 +¢3 =0 then((o0®) a’ +b° +c* =2

a) 3(abc)% b) (3abc)§ c) 3(abc)§ d) 3(abc)% L]

The corresponding side of two simillar triangle are in the ratio 2 : 3. The ratio of the perimetres of the triangles is— (45! 5l

fGgea Sel T2 SIS 2 ; 3 20 3291 ARPTINE S#ire T°3-)
a) 2:3 b) 4:9 ) 2:6 d) 4:3 []

The value of k for which the H.C.F. of x* + x — (2k +2) and 2x> 1 fy—12 IS x+4
(k & TR @ x? + x — (2k +2) O 2x° +hx—12 F90e A2 92 7T x+4)
a) 2 b) 5 © 8 d)y 10 []

A man distributed Rs. 100 equally among his friends. If there had been 5 more friends, each would have received one
rupee less. How many friends had he? (€& Sz 100 5 (997 725111 Strere wmiics waii iz 13 =i 5 &l 72oifd @fg
NRICECRCS (ST AT 1 GHIT T3 910 (20 | (999 ﬂ%ﬂ@ﬁaﬁgj wifesi-)

a) 20 b) 25 ¢ 30 d) 35 []

If x=10+0.1 and y =10£0.1 then 2x — 2y is equal to— (31 x=10£0.1 == y =10+ 0.1 T, (ST 2x — 2y I
29)
a) (0.0£0.1) b)  Zero (%) ) d) |:|

General Science / A< e

A man runs towards the plain mirror at 2ms™'. The relative speed of his image with respect to him will be—/ @& Sz
28/ (@ A G4 FTTos WICHANS FICE B2 2 0 S2aa AT (099 eifoiiga S @9 23—

a) 2ms'/f/w= b) 4ms/ /@ ¢ Sms'/f/z d) 10ms'/fi/cz []
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T2,

78.

19,

80.

81.

82.

83.

84.

1 1
If a graph is plotted between - and " for a convex lens which of the following graph is correct— / S Rito{i7e CFaS

1

u

1 =
o = (@ (514 5 05 OoTE (s AS 592

Which of the following cannot produce a virtual image? / &&18 (SR SR Uiy Gt w1 (R ¢

a) Plane mirror/S =1 R b)  Concave Mirror/Siges1 ®icall D
c) Convex Lens/%es (Firg d)  All ofthese /=Ii5ir26!

Ifthe critical angle for total internal reflections from a medium to vacum is 30°, the velocity of light in the mediumis— /
SIS |9 7)¢f UfSToTE G5 TR =elrq AT FEPD (Fie 30° | (T2 A (ATETS (91—

)  3x10°m/s(F/® b)  6x10°m/s(R/® []
c) 1.5x10°m/s(fW/®) d) 3 x10°m/s (/@)

A dynamo is often said to generate electricity. It actually acts as a source of- /TR’ 512 Ry *f& Gevia (4. TS
[RERACE R

a) charge/SiHR b)  electromagnetic force/&e pa< m=ife D
¢) electrons/3EFH d)  magnetism/pEFY

1 newton/coulomb is equivalent to— /1 FEs/ 7% g (02—

a) ljcfem/gor%] b) 1v/m[e5/fRe] o ljfe] d) 1o/ [5T%/e5] []
Which of the following is a vector quantity? /579 (SR «bI (o3 91 2

a) Electric charge/(@qios ik by  Electric potential/Raifes Reg D
¢) Charge density/STii<<ag d)  Electric field intensity/ (auyiess g 2li<eT

The effective resistance between the points A and B in the figure is—/ (3143 FES(GIS A SIi% B 9 S[& 7ohgel (M9

D
3Q
A AAAAAA C
30 3Q
B
a) 40 b 30 g 26 d 5Q []

In fractional distillation, petrol is separated at— /<< (o=T= SRR Ao, (AT = 7<% T 28—

a) 250°C-350°C by 40°C - 170°C c)  350°C-400°C  d) 170°C-250°C [ ]
. [10]



85.

86.

87.

88.

89.

90.

9l.

92.

93.

94.

95.

96.

Which of the following has highest calorific value? /&1 (FNGR (IR T SABIROF @R?

a) Petrol/ (7=t b)  Natural Gas/=iFfe (o2
d) Ethanol/2we d)  Hydrogen/23g(s

Sound travels faster in— /*%< @4 @fz—

a) Alcohol/@s@z=Ts b)  Benzine/ @fgme ¢) Hydrogen/z2gtese d)  Nitrogen/=I25 (5we

Sodium and Chlorine atoms are held together in NaCl by— / NaCl® &G o1 <o Azcaifers Fa—

a) Electromagnetic force /R<pe R b)  Gravitational force /S e
¢) Electrostatic force /% taifes s d)  Magnetic force /5 AET

Find the odd one— /=IfS=1(5! qif2 Sferedi—
2 HO b) NH ¢ CHOH d CH

3 676

Which of the following is a carbonate ore of copper?/Saia (FIC! FITE FIKEG SNFS 2

a) Cuprite/fFsi26 b)  Pyrite/#%25
c) Copper glance/3iIF (2™ d)  Malachite / G125

The metal which is liquid at room temperature is—/3«9¢ 3eole o1+ SRZI® 2 419K (202
a) Hg b) Mg o Ag d) Mn

Boiling point of benzene is—/ &f&ma TeaIF 25—
a) 335K b) 353K 0 533K d) 530K

Haemoglobin is a kind of- /f25aifke < #izsis—

a) Carbohydrate/3%220g5 b)  Fat/s<f

c) Protein/af= d)  Vitamin/feBfsE

Which of the following helps enzyme actions? /<51 (PR (T2 GEries [&FaTe 7RI I ?
a)  Chlorine/zRe b)  Magnesium/ o=

¢) Calcium /@1 d) Iron/Gl

In a stretched string— /B2iE 2= 2k GUIET—

a)  Only transverse wave can exist/ (3531 S 2% $a5 %% F A1
b) Only longitudinal waves can exit /(31 S ©aa % F 7T
¢) Both‘a’and ‘b’ / ‘a’ ®= ‘b’ wCAGI

d) None ofthese /9bie w2z

Which of the following is not an amphoteric oxide /5 (FICH! TSI SHBT 723 2
a) ZnO b) PbO o Cr0, d) MnO,

[]

Which of the following elements helps to carry out the biochemical reactions in living bodies ? /<& (5! <& (T2

(TS (R Ceriass RIGAPRIR ARGl AR F 2

a) Calcium/@T=N  b)  Phosphorus/==z ¢)  Sodium/=ZT d)  Potassium/~ifears |:|
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97.

98.

99.

100.

Which type of cells of the gastric gland produces HCI acid? /#I5%&1! 8218 (R (1< 7€ HCI @fze Seoim 23 2
a) Oxyntic /@S b)  Peptic/cos ¢)  Mucous/fiEF6 d)  All of them/=IiGizwen! I:l

Which is a granular white blood corpuscle?/ (FCH! (55 TG eI T 2

a)  Neutrophil/FeG b)  Monocyte/s5125 I:l
b) Basophil/ @ d)  Eosinophil /2 fer =

Which one of the following chemical substances act as nerve impluse conductor? /{1 (FCH TS T2 R
/R f&pIe e a2

a)  Acetyl choline/afHEa=Hm b)  Thyroxine/2Rm []
¢) Pyruvic acid/=izses afew d)  Acetic acid/ a6 afzw

Which type of the following waste materials are excreted through skin by aquatic animals? /&@Ter 2T wte fl (i
G #{m1<f BleTe @ISl e S 2

a) Ammonia/<Wa b)  Urea/28R1 ¢)  Uricacid/2e"& «@fze d)  Creatinine/ @@ I:l

00000
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